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Answers for Lesson 10-1, pp. 538-541 Exercises (cont.)
16. Vv

&

&

Ellipse: center (0, 0), x-intercepts at +2, y-intercepts at +6,
the lines of symmetry are the x- and y-axes;
domain: -2 = x = 2;range: —6 = y = 6.

(17.) center (0, 0), x-intercepts at £3, y-intercepts at +2;
domain: -3 = x <3 range: 2 <y =2

18) center (0, 0), no x-intercepts, y-intercepts at £2; domain: all
real numbers, range:y = —2ory = 2

6 9?) center (0, 0), x-intercepts at £3, no y-intercepts;
" domain: x = -3 or x = 3, range: all real numbers

(20) center (0, 0), x-intercepts at £8, y-intercepts at 14,
domain: -8 = x = 8, range: —4 =y = 4

G’L)‘ center (0, 0), x-intercepts at +3, y-intercepts at 5;
77 domain: -3 =x=3,range: 5=y =35

'22) center (0, 0), no x-intercepts, y-intercepts at =3; domain: all
real numbers; range:y = ~3o0ry = 3

23) 19
24) 17
25) 18
262 20

2D 21

ooooooo U C0RO0ERI00 00000009 NDOCOVENRNOIDOLODIOPALOIREO0ODOGO000CRDERRODER

Algebra 2 Chapter 10



Answers for Lesson 10-2, pp. 546-548 Exercises

: 1 iy = éxz 1’2;) y = “%x2 | 3} ¥ = _.%yg
Wy=—h2  sly=k2r2 6 r=h
‘ @ x = “2‘1?4}’2 8;] y = —%6762 9 y= z.l_sxz
R A L N PR

/2’ lr 13y =3 1)y =22 )
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15. a.” Answers may vary. Sample: y = x

b. The light produced by the bulb will reflect off the
parabolic mirror and will be emitted in parallel rays.

60,1,y =-1 17 (0.})y=~F 181 (0,-2).y=2
19. (3.0)x=-5 20 (0.3)y=-3 21 O0.x=-9
2 (-30)x=5 B.(0.-}).y=4%
'24. (0,0),(6,0),x = —6 25. (0,0), (0, —1),y = 1
RBP4 oty X
b // _.4/f \\4
s A 4
X /11 \
ol [ 2 ) i !
4 \\\ —
My
8 N
'26. (0,0), (3,0),x = ~3 27. (0,0),(%,0).x = -%
; / N //
X X
0 4 O 2
—;\\\ -k\\
AN IMEAN
=8 A -
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